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WS 2-2
Simplifying Algebraic Expressions

I.
TILES: Write and simplify the algebraic expressions using algebra tiles.

   Check with the calculator.
	Expression
	Algebra Tiles
	Expression
	Algebra Tiles

	1)    

       5x + 2x


	
	2)

      
	

	3)

      4x + 2x + 1


	
	4)

      -2x + x – 2


	

	5)


	
	6)


	

	7)

      2x – 5x – 4


	
	8)

     3x – 7 + 2
	


II.
Simplify the expressions below.  Use tiles only if needed.
9.   -3x – 2x + 4 – 1


10.   2 + 4x – x + 5


11.
x – 4 – 3x







12.  -2 –2x + 2x + 2



13.
5x + 6x – 3 + 4

14.  -6 – 2x + 7x

15.  Find the perimeter of the square (in terms of x )



Perimeter = _______________


16.   Find the perimeter of the rectangle (in terms of x)

                    Perimeter = ________________

17.  Jessica was simplifying the expression -3 – 4x + 8 – 6x.  

        Her simplified expression was -7x + 2.  As you can see this is incorrect.  

        Give the correct answer and state what she did wrong.

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

III.
Review

_____18.  A local movie theater offers movie reward points for each ticket purchased.  These 

points can be redeemed for free concession items like popcorn and soft drinks.  Which statement best represents the functional relationship between the number of tickets purchased and the number of movie reward points?

A. The relationship cannot be determined.

B.  The number of tickets purchased depends on the number of reward points earned.

C. The number of rewards points earned depends on the number of tickets purchased.

D. The number of tickets and the number of reward points are independent of each other.

#19-21:  Write the algebraic expression for each phrase

19.
the product of x and fifteen


__________________________


20.
four more than a number


__________________________


21.
______________________



4x  - 8







4x + 6 





2x – 1 





3x








